
Inequality: the Gini Index 

Goal 

This exercise introduces the Gini index, which is one of the most commonly used income 

inequality indicators. 

Activity 

Calculate the Gini index on total disposable income for Finland and the US in 2000, after 

bottom-coding disposable income at 1 percent of its equivalised mean and top-coding at 10 times 

the unequivalised median. 

Guidelines 

 Prepare the data as you did in the previous exercise (drop observations with missing or zero 

dpi). 

 In the previous exercise you have seen two different methods of dealing with extreme 

values, trimming and winsorising (or bottom-/top-coding). The LIS key figures are 

calculated using a particular type of bottom-/top-coding, which we will to replicate in this 

exercise. The bottom-coding is carried out after the equivalisation of income (on the 

equivalised income distribution), while the top-coding is carried out before (on the 

unequivalised distribution) in the following way: 

- at the bottom of the distribution, equivalised income is bottom-coded at 1 percent of its 

equivalised mean, i.e. all observations for which equivalised income is lower than 1% of 

the average equivalised income are set to that value. 

- at the top of the distribution, income is top-coded at 10 times the unequivalised median, 

i.e. all observations for which unequivalised income (or dpi) is higher than 10 times the 

median unequivalised income are set to that value. 

 

 Producing the Gini itself is complex: graphically it represents the surface between the 

Lorenz curve and the line of ideal equality. The translation into SPSS syntax requires many 

lines of code, for what reason LIS decided to supply another include file : 

include file = 'i:\gini-any-income.sps'. 

  



Program 

title "** INCOME DISTRIBUTION II – Exercise 13 **" . 

 

define keepvars (). 

  hweight d4 d5 dpi. 

!enddefine. 

 

define prepare (). 

select if dpi ne 0 . 

select if d5 ne 3 . 

compute wt = hweight*d4 . 

weight by wt. 

!enddefine . 

 

get file = us00h /keep = keepvars . 

prepare . 

compute inc_var = dpi. 

include file = 'i:\gini-any-income.sps'. 

 

get file = fi00h /keep = keepvars . 

prepare . 

compute inc_var = dpi. 

include file = 'i:\gini-any-income.sps' . 

  



Results 
 

 

 

 

 

 

 

Comments 

 The Gini index ranges between 0 and 1, with inequality increasing with an increasing index. 

A value of 0 means there is a completely equal distribution of income; a 1 refers to the 

extreme situation of one household holding the total population income, and all the rest 

having no income at all.  

 As expected, inequality is much larger in the US than in Finland. 

 To see the Ginis for all LIS datasets online, go to http://www.lisproject.org/key-figures/key-

figures.htm. 

 

 Gini 

US 2000 0.36823 

Finland 2000 0.24621 
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